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Q: Find the amount of Calcium hydroxide that is required to react with 2
moles of Carbon dioxide to form 2 moles of Calcium carbonate along with
2 moles of Water

A: First, use the chemical reaction predictor to determine the chemical
equation for the reaction.

Reactants: ?Ca(OH)2, 2C02

Products: 2CaC0O3, 2H20

<< Chemical reaction predictor >> NEED 21—

2Ca(0OH)2 +2C02 - 2CaC03 + 2H20 | LR IGFRIZEDFEUH L
Second, use the molar mass list to determine the molar mass of Calcium
hydroxide. ...
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BEENE(ICSHMBOMELL THRAMIIHRALGHBMNRO>TLETL, MEEZRBLCTRIMICAN OB ZS
EHITEDTEFET. THRAMEEL, THENRIZEDKIITITIDOMN I EWSIH THBZEEIL T H2LT, BE
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